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Write a program to show the implementation of encapsulation in java.

Solution

Code in compiler -

code13 java
com.company
pra
t ssn
te String empName
te int empAge

t getEmpSSN
ssn

lic String getEmpName
empName

t getEmpAge
empAge

&1 id setEmpAge (i
empAge = newValue

1i id setEmpName(String ne
empName = n e

setEmpSSN
ssn = newValue

1 code13

! tat main(String args

pra obj pra

obj.setEmpName("Rajdeep Jaiswal"

obj.setEmpAge (18

obj.setEmpSSN(2761

System.ouvt.println("Employee Name: "
"Employee SSN: " +
"Employee Age: "

+ obj.getEmpName

obj.getEmpSSN
obj.getEmpAge




OUTPUT

java -javaagent:/Applications/IntelliJ IDEA CE.app/Contents

Employee Name: Rajdeep Jaiswal
Employee SSN: 2761
Employee Age: 18

Process finished with exit code @




